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CHEMISTRY

BOOKS - MS CHOUHAN CHEMISTRY (HINGLISH)

ALCOHOL, ETHERS AND EPOXIDES

1. The following transformation involves a carbocation rearrangement.
The carbocation is generated by potonation of the hydroxyl group by the

lose of water. Which bond has to migrate in the carbocation to yield the
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product indicated (after the deprotonation) ?

OH
:HQSO‘,I

8

D.d

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bd7Yhhw0RW9v

2. Identify the major product.

. HLSO
—27% 5 Product



https://dl.doubtnut.com/l/_0DzMPFIiOK9q

Answer: A

o Watch Video Solution

3. Complete the following

CH,-OH o
[

"I Et CH, - C-Cl

% (A) (major)
|
H

f
CH, - O—C - CH,

(:(E
(a)
i

A H

reaction


https://dl.doubtnut.com/l/_0DzMPFIiOK9q
https://dl.doubtnut.com/l/_VL3VBpWLeyzz

()

Y
C. H
0
I
C-CH,
Et
(d)
D H
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VL3VBpWLeyzz

4. Predict the product when given compound reacts with LiAlH} :

@)
i O

A L
6]
OH i
C-0-CH,
B. o
OH
OH
(©
OH
C.
0
g
¢ oH
()]
OH


https://dl.doubtnut.com/l/_2AHCB7hgHAVN

Answer: C

° Watch Video Solution

5. Predict the product when given compound (A, in the above question 4)

reacts with NaBH,.

o]
QH o CH,
A.
0
QH o CH,
(b) \Q/
B. OH
OH
OH
©
C OH
(0]
g
ol \Q/\OH
D OH

Answer: B



https://dl.doubtnut.com/l/_2AHCB7hgHAVN
https://dl.doubtnut.com/l/_QDorgJOUaJLL

| ° Watch Video Solution

=0

(l,—o-CH3

-O0-H " Hl
@/ +CH;-0®-H Tooo * H0

Methyl benzoate

The labelled — O™ will be in :

A. H,O
B. Methyl benzoate
C.Both (a) and (b)

D. Benzoic acid

Answer: B

o Watch Video Solution

18
CO:H CH, - OH

H+
7. | + | — (A) Product (A)is:

18
CO:H CH;, - OH


https://dl.doubtnut.com/l/_QDorgJOUaJLL
https://dl.doubtnut.com/l/_CJWJ34GM9gSJ
https://dl.doubtnut.com/l/_IltIHLiNwcMy

il
c. 0

o o

]
DH-O-C-C-0-CH,—-CH, -—0OH

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IltIHLiNwcMy

8. Which is oxidized most easily?

A CH; — CHOH — CH;

®) @—OH

C.CHs —CH, — O —-CH>, — CHjs

CH,
@ (_)-ol

D.

B.

Answer: A

° Watch Video Solution

OH
CO,H K ,Cr,0,

N

(P)

5 -

Product (P)


https://dl.doubtnut.com/l/_zMzTzQCV8K8J
https://dl.doubtnut.com/l/_cFbGioweESWX

o[
A.
O
o)
B.

0
COLt
(©)
CO.H
oY

D.

Answer: B

° Watch Video Solution

10. Which of the following react with H Br at faster rate ?

@) DG\ OH

A


https://dl.doubtnut.com/l/_cFbGioweESWX
https://dl.doubtnut.com/l/_3xNdB56ChAFE

Answer: B

° Watch Video Solution

OH

0 i !
CH, - g—o—-c _OH —— CHg—CH—Q—CHrOH

Above conversion can be done by :

1.

A NaBH,

B. LiALH,

C. pPCC

D. KMnQOy


https://dl.doubtnut.com/l/_3xNdB56ChAFE
https://dl.doubtnut.com/l/_lKieF4Mu4aoq

Answer: B

° Watch Video Solution

CO,H
2 CII ’J()II .
- - (A) 3
}{ 2504; ) A
CO,H
12. Product
(A) is
CO,CHj3
(a)
COZH


https://dl.doubtnut.com/l/_lKieF4Mu4aoq
https://dl.doubtnut.com/l/_MkjDzCjf5XFA

CO,CHj3

(b)
C02CH3
B.
CO,CH;
(©
»CH
C. 0204
- CH
)
D 0
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_MkjDzCjf5XFA

H,S0, P

99%yield

13.

Unknown
(P) of the reaction is :

0
1 Ph
> Ph
(a) 2 0
A 3
5 6 /Ph
1.C
ON ph
B 3 2
7 h
1P
Ph
(c) )
C 3
. OoH
2 | _pn
1 _&r
D. 3 2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_UFKUZwtC1fMI

14. Predict the major product of the given reaction.

OMe

Product (A) is

(b) @ (O o

B.

AL

()
C.

» OL T

OMe
O

D.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PjdyK2r9fA3I

15. Identify the major product,

OH e
N —> Product
Q) .

OH

S

0]

O
| \
w
O

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bcZraDq8mhKg

16. Find the final product of the reaction

O
O. .
S : SN (A); Product (A) is :

0

()
O

0O
O
()
o 0
C.
Q
@ 0’()@

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YY5zBHXGPMPi

1§

LiAlHs y (A) Major;

Product (A)


https://dl.doubtnut.com/l/_YY5zBHXGPMPi
https://dl.doubtnut.com/l/_QixmlD8cNxFi

OCH “

1)y

CHL0H

Answer: D

o Watch Video Solution

OH
1,+NaOH
| e, CHI, +(A);
OH (1odoform)
orcinol)
18. (Res Compound
(A) is :
(0]
o &
ONa
@] _CONa
A CH;
o o


https://dl.doubtnut.com/l/_QixmlD8cNxFi
https://dl.doubtnut.com/l/_SBVwFTC3Drzu

o

[
C.CH; -CH,-CH, -CH, - C - OH

o

[
D. CH3 - (CH2)3 - — ONa

Answer: A

° Watch Video Solution

OH
H,CrO,
(3° alcohol)
19.
(A)is :
A. No reaction
=
b)
0

> (A).

Product


https://dl.doubtnut.com/l/_SBVwFTC3Drzu
https://dl.doubtnut.com/l/_mGKtLEeOsO7e

Answer: B

o Watch Video Solution

’/COZH

(1)CH ., —Li(excess)

»(A)

{

By +CHL 4

(2) H”
20.

Compound (B) is :

@

NaOH


https://dl.doubtnut.com/l/_mGKtLEeOsO7e
https://dl.doubtnut.com/l/_FKD6S1NsP6Au

-+

0O Na
(b)
B.
CO,Na
(c)
C.
CO,Na
@
D.
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FKD6S1NsP6Au

18514 H-Br
ccl,

21. Major

product obtained in the reaction is :

(a)

&

Q

®)

OH
(c) Br

§

Br

@ OH

§

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DqNJQYEJGUvk

22, Consider the following alcohols,

CH,OH
(1] o

oN

i) ) /@/
Br .

CH,0

CH,OH

The order of decreasing reactivities of these alcohols towards

nucleophilic substitution with HBr is :

AIIl >1>1V > 11

B.IIT >1>1I>1V

CI>1III>1IV >1I

D.I > III > 1II > 1V

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DqNJQYEJGUvk
https://dl.doubtnut.com/l/_ssjSF0XqH56C

O = /ﬁLO/\

23.
Sum of number of alcoholic groups in product (P) and (Q) is :
A1l
B.2
C.3

D.5

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_5P9hj55CNHdX

24. In presence of dil. HCI, compound A is converted to a constitutional

isomer (B), compound B is :

O

I Y
HO NH - C—@—Wz

@

Answer: A



https://dl.doubtnut.com/l/_n18AluRKNjXC

| o Watch Video Solution

25, Complete the following
Q CrO,;CI®
CHj 1
CHa— -OH e > (A)
3.7 dichloro methane

CH,4

(a)

:

(b) =0

8

(c)

¢

(d)

Answer: B

reaction



https://dl.doubtnut.com/l/_n18AluRKNjXC
https://dl.doubtnut.com/l/_kLpz7OM17MWQ

| ° Watch Video Solution

‘ L_it\lH_;

26.

the reaction is :
A. Racemic
B. Diastereomer
C. Meso

D. Optically pure

Answer: B

O}

CH. 2() b i

Product of

° Watch Video Solution



https://dl.doubtnut.com/l/_kLpz7OM17MWQ
https://dl.doubtnut.com/l/_tUoQpvLDqSN3

OH

(D) ELi(35eq .
CO,H - ST}
. (2) H™, H,0 o3 nvise

27. Chemist
added extra 0.5 mole of Et — Li in above reaction to obtain product (A),

which is ?

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_j0vqevspTmTY

CH,OH (|>|

+Ph-C-O-H

HO
28.

product of above esterification reaction is :

g
=
@]
oo

ph
A.

: CH,-0-Ph

0

0-C-

nel
HO
Answer: B

Major

° Watch Video Solution



https://dl.doubtnut.com/l/_eZBuCkK0PIY0

0L
NH,

(A) of reaction is :

fa; @

(b)

NH,

- (A);

Product


https://dl.doubtnut.com/l/_9IXhxFGA9xUA

OH

(¢)
My
c O
O
N
(d)
NH
Y
D. 0
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_9IXhxFGA9xUA

w (O
H

CHB—CI]—OH

CH,
30. Product of

the reaction is :

OH
g;ﬂ
A
A.
CHO
(b)
OH


https://dl.doubtnut.com/l/_GX3G3sxk9ckn

CO,H
(c)

Con

;0&1

C.
)
D.
Answer: B

o Watch Video Solution

31. Which is the best reagent to convert isopropyl alcoholto isopropyl

bromide?

CH, CH,
[ ? |

CHs — CH — OH — CH; — CH — Br

A. HBr

B. SOBrs


https://dl.doubtnut.com/l/_GX3G3sxk9ckn
https://dl.doubtnut.com/l/_8nTZqVtnWjcp

C. BT’2

D.CH3MgBr

Answer: B

o Watch Video Solution

NH,

Ph 3(0}{  HNO,
| o,
' CH,

Ph

32.

Major product obtained in the above reaction is :

(\)\ H CHjy

(a) Ph—C
Ph


https://dl.doubtnut.com/l/_8nTZqVtnWjcp
https://dl.doubtnut.com/l/_7RhXham72Vo8

(ﬁ CH, 1
(b) Ph— c—\{
B. Ph

C. Racemic

D. Diastereomers

Answer: A

o Watch Video Solution

A‘«» OH HIO, A) (1) LiAI, (excess) (B
-aOH ’ () HF
A%

Total number of stereoisomers of product (B) will be :

33.

A2

B.3

C.4

D.5


https://dl.doubtnut.com/l/_7RhXham72Vo8
https://dl.doubtnut.com/l/_CZCpmbqo513P

Answer: B

o Watch Video Solution

i
5 C - CH,
R 1L HO
4_>
I
‘O-—(\:\"CHB

34.

product of the reaction is :

SH

(@)
',///OH

SH
®) q
OH

Major


https://dl.doubtnut.com/l/_CZCpmbqo513P
https://dl.doubtnut.com/l/_XecU66eAyC38

Answer: B

o Watch Video Solution

35. Complete the

O

a5 C-CH,

1O - G — CHy
|
O

following

)
HoY

P

reaction


https://dl.doubtnut.com/l/_XecU66eAyC38
https://dl.doubtnut.com/l/_O8Z0FXE9aPll

“ron
‘bl |
(b) Q
B.
C.
D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_O8Z0FXE9aPll

OH
O
—
36.
CHsMgBr/H+ KMnOs (colddil.) CrOs H* /A
(1) (2) (3) 4

For the above conversion the correct order of reagents used is :

Al—-2—-+3—>4

B.1 -4 —+3—2

cCl—-4—-2—3

D2 >3 —>4—1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_pCo0GmGj2D89

= — S o
oH “ O [
Wz T AMA,

37.

find missing reagents.
A x = LiAlH,;,y = NaBH,
B.z = LiAlH,/ AlCl3,y = LiAlH,
C.x = LiAlHy,y = LiAlH, / AlCl3

Answer: C

o Watch Video Solution

38. In solvolysis of 1, 2 -dimethyl propyl p-toluene sulfonate in acetic acid

at 75° C, (alkene + substitution products) will be formed by mechanism?

A. SNZ, E2


https://dl.doubtnut.com/l/_kBpy4LduDH1p
https://dl.doubtnut.com/l/_PRVavE1GfWM5

B. Sn2, By

C. SNl, E2

D. Sy, Ej

Answer: D

° Watch Video Solution

39.

x = moles of anhydride consumed

Al

(A)

xAC,O

(B)



https://dl.doubtnut.com/l/_PRVavE1GfWM5
https://dl.doubtnut.com/l/_T7lvPybFlFZc

B.2

C.3

D.4

Answer: C

° Watch Video Solution

40. Identify product when (R) - and (S) -2 - butanol reacts with (R, R)

tartaric acid in acidic medium.

A. Racemic

B. Diastereomer

C. Meso

D. Pure enantiomer

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_T7lvPybFlFZc
https://dl.doubtnut.com/l/_CpW0DV31K0B1

41. An alcohol of formula CqH50 reacts with NayCr,O; to form a

compound having formula CqH;,O. The original alcohol might be :

@ @ CH, - CH, — CH, — OH

?H
®) @—CH - CH, - CHy
B.

CHj

|
(© @_? e

C. CHj;
CH,

@ @—(\:H _ CH,OH

D.

Answer: B

o Watch Video Solution

42. An optically active alcohol of formula CyHi1202 produced the

following compound when refluxed with KMnQOy.


https://dl.doubtnut.com/l/_CpW0DV31K0B1
https://dl.doubtnut.com/l/_Dszw7euGJBrh
https://dl.doubtnut.com/l/_IBmmbqUnaLjK

O 0O
I

I
HO —C C —OH

The original compound showed these properties also :

Na
CoH;50, —> H, liberated

(A) \ Br,

—> 1no rapid reaction
CrOy/H"
cool CoHgOy

What is structure of (A) ?

CH;.__OH
(@
A OH
OH
OH
®)
CH,4


https://dl.doubtnut.com/l/_IBmmbqUnaLjK

OH

(©
CH3

D. both (a) and (b)

Answer: D

o Watch Video Solution

43. Which are not cleaved by HIO,?

I: glycerol  1I: glycol

Il: 1, 3-propenediol IV : methoxy - 2 - propanol
AL TG TV
B. I, I
C. 1,1

D. Il IV


https://dl.doubtnut.com/l/_IBmmbqUnaLjK
https://dl.doubtnut.com/l/_cdMfh18FrqX7

Answer: D

° Watch Video Solution

44. Which of the following reaction required an oxidising agent ?

A CH3 — CH = CH2 — CH3 — CH2 — CH3

C.CH; — CH5Cl — CH3 — CH;

D. CH3 — CHgOH — CH3 — CHzCl

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cdMfh18FrqX7
https://dl.doubtnut.com/l/_pQ54ChvviGBc

45. What is the major product of the following reaction ?

O
NaBH,
> product

CO,H



https://dl.doubtnut.com/l/_vMSkOTd1ifGz

Answer: A

° Watch Video Solution

46. Which of the estes shown, after reduction with Li AlH, and aqueous

workup, will yield two molecules of only a single alcohol ?

A. CH3CH,CO,CH,CH;

B. Cs Hs COyC HyC Hy

C.CsH5;CO5CxHj5

D. None of these

Answer: B

° Watch Video Solution

47. For the following reaction, select the statement that best describes

the change.


https://dl.doubtnut.com/l/_vMSkOTd1ifGz
https://dl.doubtnut.com/l/_BFIo9NtzQ5E8
https://dl.doubtnut.com/l/_raPf8ccdbHhe

RCH,0OH + PCC[CsH;NH * CICrO; | —

A. The alcohol is oxidized to an acid, and the Cr(VI) is reduced
B. The alcohol is oxidized to an aldehyde, and the Cr(VI) is reduced
C. The alcohol is reduced to an aldehyde, and the Cr(III) is oxidized

D. The alcohol is oxidized to a ketone, and the Cr(VI) is reduced

Answer: B

o Watch Video Solution

48. What is the product of the foIIowing reaction ?

H;C_ CHs 0504 (cat), (CHy)1CC00H H ‘ OH HO—=—1
C= - HO d
(CH3)3COH,HO OH —\‘Oh
H/ C\H 3)3
CH3

A.Only 1

B.1:1 mixture of 2 and 3

C.Only 2


https://dl.doubtnut.com/l/_raPf8ccdbHhe
https://dl.doubtnut.com/l/_Qto9pqEt5nmy

D.1:1:1 mixtureof1,2,and 3

Answer: A

o Watch Video Solution

49. An organic compound B is formed by the reaction of ethylmagnesium
iodide (CH3CHyMgI) with a substance A, followed by treatment with
dilute aqueous acid. Compound B does not react with PCC in
dichloromethane. Identify A ?

0

|
ACH; - C—H

o

[
B.CH;CH,CCHj,

0]
/ \
(d) H,C-CH,
D.

Answer: B


https://dl.doubtnut.com/l/_Qto9pqEt5nmy
https://dl.doubtnut.com/l/_PzkLQhA2L83f

° Watch Video Solution

50. Which of the following reagents would carry out the following

transformation ? (D =2 H)

9 P
} 2
Ot == O

D

A NCLBD4 in CHgOH
B. LiAlH,, then D,O
C. N(IB.D4 in CHgOD

D. LZAl.D4, then DQO

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_PzkLQhA2L83f
https://dl.doubtnut.com/l/_M0mqvKaSqbbl

51. Which sequence of step describes the best synthesis of 2 - methyl-3-

pentaneous ?

O

A. (1) 1- Propanol +(CHj3),CHMgBr, diethyl ether
(2) H30™
(3) PCC, CH>Cl,

B. (1) 1-Propanol + NaaCra07, H2 S04, H>0, heat
(2) SOCl,

(3) (CH3),CHCI, AlCl3


https://dl.doubtnut.com/l/_ErFyF9r2WElF

C. (1) 1-Propanol + PCC, CH,Cl,
(2) (CH3),CHL;,diethyl ether
(3) H;O™"
(4) NayCroO7, HySO4, HyO, heat
D. (1) 2-Propanol + NaysCry07, H3SO4, HyO, heat
(2) CH3CH,;CH, Li, diethyl ether
(3) H;O™"

(4) PCC, CH5Cl,

Answer: C

o Watch Video Solution

52. Diols (I-IV) which react with CeOs in aqueous H,S0O, and yield

products that redily under fo dercarboxylation on heating are :


https://dl.doubtnut.com/l/_ErFyF9r2WElF
https://dl.doubtnut.com/l/_oZ9tiTTyRMiI

{) HO GDHG/\W/\\

OH

am HO/Y\ aw) )\/\ o

OH

A.land Il
B. Il and Il
C.lland IV

D.land IV

Answer: C

o Watch Video Solution

53. Which of the following compounds are not oxidized by HIO4 ?

CH;—CH—-OH CH;—C=0
(1) | (2) |

CH, - OH H-C=0

CH;—C=0 CH;—C=0

(3) | (4)

CH3—C:O CH3—CH—NH2


https://dl.doubtnut.com/l/_oZ9tiTTyRMiI
https://dl.doubtnut.com/l/_0eHoFoC5VGzV

(5)

0
CH,— OCH, [ |
(6) (7) C - OH
CH,—OH |
CH, - OH
A.5,6,7
B.4,5,6,7
C.6,7
D.3,4,5,6,7
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_0eHoFoC5VGzV

CH,OH
TsCl

OH (A) ———— > (B) 84%;
Pyridine 80°C
0°C (HMPT Solvent)
54, Final

product (B) will be :

08
N
2

A

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_cz1TP9KGflaT

55. Unknown (A) in the reaction (given in Q. 55) is :

2= OT:
A

HyOH
$

pr—

(b
B.

CH, - CH,,
C.
\O
(d)
D.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cz1TP9KGflaT
https://dl.doubtnut.com/l/_8gYHvjXAOmID

56. In the given table, identify the incorrect option, the digit in box
indicate the moles of that substance.

Reactant

HIO , HCO,H HCHQ
consumed formed formed
?H
(&) HO-CHZ—CH—CH2_OH f\
(')H IOH OH 2
' o
® R - CH-CH- CH-CH, - OH -
OCH4
|
© HO- CH, - CH- CH,OH @ [(ﬂ m
OH OCH;4
]

(d HO-CH, - b éHz

I

o Watch Video Solution

A NH;3 Bro

57. Succinic acid > (A) > (B) —— (C), Product (C) will be :
A KOH

CH, - CO,H

A |
CH, — CH, — NH,
CH, — CO,H

B. |
CH, — NH,
CH, - CO, K~

C. |

CH, — NH,


https://dl.doubtnut.com/l/_2KZuCOxmc0B4
https://dl.doubtnut.com/l/_n2RgjSC8WN4Q

CH, - CO,H
D. |
CH2 - CHQ — Br

Answer: C

° Watch Video Solution

58. Given are the structures of cyclic D- glucoside. Moles of HIO,

consumed with X and Y are ......... Respectively:
RO —CH ""‘l CHOR
——0O \ OH
HO — O
———OH OH
——OH OH
CH, - OH CH, - OH
> | ()
A2 2

B.3,3


https://dl.doubtnut.com/l/_n2RgjSC8WN4Q
https://dl.doubtnut.com/l/_hXwXVL1jxCod

C.2,3

D. 3,2

Answer: A::D

o Watch Video Solution

59. Moles of formic acid formed in x and Y respectively are :

Al,2

B.2, 1

C.2,3

D.3,2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_hXwXVL1jxCod
https://dl.doubtnut.com/l/_qr3zRwYsQWte

60. Moles of HCHO formed are :

Al,1

B.2, 2

C.1,2

D.2, 1

Answer: A::C

o Watch Video Solution

61.In which of the following group, each member gives positive iodoform

test?

A. methanol, ethanol, propanone

B. ethanol, isopropanal, methanal

C. ethanol, ethanal, isopropyl

D. propanal, propanol-2, propanone


https://dl.doubtnut.com/l/_SpMVLAyRB99U
https://dl.doubtnut.com/l/_gMZV7pZ8EHAr

Answer: C

° Watch Video Solution

62. H,0"® + Na — (A) + (B)
(base)
0

||
CH; —C — 0O —CHy, — CH;3 + (A) — (C) + (D) alcohol
Product (C) of the reaction is :

o

|
ACHy —C—-0Q-H

018

[
B.CH; — C —0O—-H

O

|| 18
CCHs-C—-0"

O

I
D.CH; — C — O° NG

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gMZV7pZ8EHAr
https://dl.doubtnut.com/l/_FSCYAy3Xb4XE
https://dl.doubtnut.com/l/_BIUDgCxVZq8M

(Methanol)

(o]
2 0.1 M NaOH
NO; (Ph,P); RhCl H,0 {Cont
63. 0

Product (B) of the reaction is :

OH
(a)
NO
A 2
03
(b)
NGO,
B.
I
C -0~ CH,
(o)
C. NO,
O
o
(d) ©/ i(/
NO2 )
D.

Answer: A::B

©)

ains no nitrogen)


https://dl.doubtnut.com/l/_BIUDgCxVZq8M

° Watch Video Solution

64. Product (C) of above reaction is :

HO

(a)

(b)

AN

HO

(0

f

0
(d)

O
; T
o

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_BIUDgCxVZq8M
https://dl.doubtnut.com/l/_YB2iEquqovv6

65. The unknown compounds X and Y, both having molecular formula

C,HgO, give following results with four chemical tests.

Bromine Na metal Chromic acid Lucas reage
Compound X decolourises bubbles Orange to Green No reaction
Compound Y Noreaction Noreaction No reaction No reaction

Compound X and Y respectively are :

o
Il
A (a) CH, -CH, - C-CH, ; /NN
0

© ‘ ,;/\/\rm
C. "o

i
(d CHK—CH2~CH;—C—H;/\(
D.

[¢]

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YB2iEquqovv6
https://dl.doubtnut.com/l/_bwBIymzvpZu3

ﬁ LiH CH,Pr H,0*

L sM — N +CH,0H
O—COH dimethoxy ethane )
66.

Product (N) is :

i
(b) C>—c - CH,
B.

A.

O
(o) Il
< >C—0—H
C.

OH

D.

Answer: C

° Watch Video Solution

67. Assign the structure of major product (X) of the reaction given below.

0
I

CH,CH,0H SOC.
< >—CH - COH SR 2
| HCl®), A & >

OH



https://dl.doubtnut.com/l/_JXCCFD721MhO
https://dl.doubtnut.com/l/_UtEZLqSrVj9e

B. a
i
© C']H -Cc-Cl
C OEt
9
(@ @—CH —CH-C-0-E
D.
Answer: B

o Watch Video Solution

Cl

ethyl-2-chloro

o 0
| Il I
@—CH —C—OCH, —CH; + CH;-COH——> ®  + ®
C
acetic acid A,15h  (contains chlorine)
(7 mole)

2-phenyl acetate
(1 mole)
68.

Product (A) and (B)

respectively in the above reaction are:

o o
Il Il

@ @—(‘:H ~C-OH, CHy - C - OCH,CH,
A. a

[0}

B.

1

o

Il
(b @—(IJH - C - OEt, CHy - C - OCH,
c



https://dl.doubtnut.com/l/_UtEZLqSrVj9e
https://dl.doubtnut.com/l/_1vug4HuwLLPp

i i
© @—(EH - C - OEt, CH; - C- OH
C. c

0
Il
@) @—CHZ ~Cl, CHy-C-OH

Answer: A

o Watch Video Solution

69.

0
||

H,C =CH - C - OCHs3 +~ CH3CH,CH,OH ——— (A)

methylacrylate n- butyl alcohol
bpt 81°C bpt 117°C

Product (A) of above reaction is :

@)

|
A.H,C =CH — C — OCH,;CH,CHj3;

@)

|
B.H,C = CH — C — O — CH(Me),

@)

N
C.H, |C — CHyC — OCHj;

OCH;
0

[
D. H3C — (CH2), — C — O — CH;3

TsOH, A gpt, 145°C

+ CH;s
dpt €


https://dl.doubtnut.com/l/_1vug4HuwLLPp
https://dl.doubtnut.com/l/_eC3SNIDBGgsN

Answer: A

° Watch Video Solution

—OH
%— OH BAC 20 B —_—
L_ OH (acetic anhydride)

70. -

In above reaction molecular formula of glycerol increases by:

A C,H 0,

B. C6H606

C. 06H6O2

D. C6H603

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_eC3SNIDBGgsN
https://dl.doubtnut.com/l/_AXK0ep99zOi9
https://dl.doubtnut.com/l/_RaD6ZQgJzQm4

71. Give the best condition for this tranformation:

OCH,4

/\/\\ _ HBC

H-C 0 ‘ OCHj;

A.CH50H, H ™ (cat.), heat
B. H,O, H ™" (cat.), heat
C.Mg, ether, CH;OH

D. SOCl,, CHsOH

Answer: A

o Watch Video Solution

72. Give the major organic product of the following reaction.

(1 sodium acetylide

- Product

(2} H.0.H "to neutralize


https://dl.doubtnut.com/l/_RaD6ZQgJzQm4
https://dl.doubtnut.com/l/_TB8O4hhybsWf

s
@)

A.
OH
"0
B.
HO, #
(c) é
C.
\ 7
(d
D.
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TB8O4hhybsWf

OH OH

NaBH,, EtOH

> (D)

| | (1) MeMghr
OH OH 2) H;0 5
s @) e s ©

Product (D) in above reaction is :

H H
() bﬁ
A.

73.

OH
OH
(b)
B.
OH
(©) éOOH
C.
OH OH
D.
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_EhxwLbeuifah

74. Select the best method for the preparation of the following

compounds :

OH WOH
and

'lfl’CHg CH

(o]

A. reaction of cyclohexanone with CH3Li

B.reaction of 1- methylcyclohexene with Hg(Oac), followes by
NaBH,

C.reaction of cyclohexene with BH3, NaOH / H,O,, following by
CH;3Br

D. reaction of cyclohexene with M CPBA, followed by CH3MgBr

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_EhxwLbeuifah
https://dl.doubtnut.com/l/_eGO4jFY7aUeX

75. Indentify the reagents (1-4), required for the transformations shown

and arrange them in correct order.

Ph Ph Ph
S e m s
b é HOH,C CH,OH
2 o o @
OH HO 0 Q OH OH
0
0

(1) LAH(LiAlHy) (2) OsOq4

(3) NalOg4 (4) NaBH,4
Al—-3—>4—2
B2—-3—-1—14
cC2—-1—-3—14

D.1 -2 +3 4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_r6zz9XOGJJ0S
https://dl.doubtnut.com/l/_Bt3mmhOMHFX6

76. Which describes the best stereochemical aspects of the following
reaction ?
GHy

Ph "CD, el VN Produi..:

OH

A.Inversion of configuration occurs at the carbon undergoing

sunstitution.

B. Retention of configuration occurs at the carbon undergoing

substitution.

C.Racemization (loss of configuration) occurs at the carbon

undergoing substitution.

D. The carbon undergoing substitution is not stereogenic

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Bt3mmhOMHFX6

77.Which of following is an example of Pinacol-Diazotization?

(0]
Ag+ |
A Mey C — CMey A Me - C — CMes
| |
OH Br
0]
NaNOz H
B.Mey C — C Meg—Cl>Me—C’—CMe3
| \ H
OH NH,
(0]

He N
CMeyC — CMey— Me —C — CMes
|

|
OH OH
C OH
H
H=8
R R R
D.

Answer: B

o Watch Video Solution

H30

78. (A) —— B+ C, (B) and (C)both give +ve iodoform test.

C5H100

compound (A) is :

A.CH; —CH = CH — O — CH, — CHj,


https://dl.doubtnut.com/l/_GDKJgZtSaNMS
https://dl.doubtnut.com/l/_9W9lmFs94btu

H

B.CH; — o — 0 - CH, — CH;
ot

C.CH; — C —O — CH, — CHjs
ot

D. both (b)and (c)

Answer: D

o Watch Video Solution

79. Asolution of Ph3CCO2H in conc. H2SO4 gives (X) when poured into

methanol X is :

(0]
|
A. PhyC —C — O — CH;3

o

|
B.PhoCH — C — O — CHj4

C. PhsC — OCH,

D. PhsC — CH;

Answer: C


https://dl.doubtnut.com/l/_9W9lmFs94btu
https://dl.doubtnut.com/l/_qKFCXsl2YJIf

° Watch Video Solution

TsCl
Pyridin

> (B)

2.

— (4)

80.

Product (B) of the above reaction is :

(©

5 888

(d)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qKFCXsl2YJIf
https://dl.doubtnut.com/l/_JX40hWWoleNH

81. In the given pair of alcohol, in which pair second alcohol is more

reactive than first towards hydrogen bromide?

() aHand D__CH - CH,
B Cl)H

C.CH;s — C’\I—I — CH,

OH
CH; — CHy — CH
CH;
D.CH; — CH — CH,
on

Answer: D

— CHj
— CHy — OH

— CH3 and (CH3)2|C — CHz — CH3

OH

and

o Watch Video Solution

82. Rank the transition states that occur during the following reaction

steps in order of increasing stability (least — stable)


https://dl.doubtnut.com/l/_JX40hWWoleNH
https://dl.doubtnut.com/l/_b5Le3dRIQixz
https://dl.doubtnut.com/l/_KOuN87BKg85M

1HyC — OH, — CH}* + Hy0
2.(CH;),C — OH, — (CHy),C" + HyO
3«%@50H—?ﬂ5—+aﬂﬁb0H++Jbo

Al<2<3

B.2<3<1

Cl<3<?

D.2<1<3

Answer: C

o Watch Video Solution

/\/K/OH MnO, _ . ,-
O /(A)a

H

(A)is :

Product


https://dl.doubtnut.com/l/_KOuN87BKg85M
https://dl.doubtnut.com/l/_4fUvvQ8fBlnb

B.
CH, o
© HO/\/J\é' —H
C.
O
@ HO/\/\& Coowm
Answer: C

° Watch Video Solution

84. In which of the following reaction hydrogen gas will not be evolved?

A CH; — CH, — OH —%
K

C.CH, — CH — OH —3

|
CH,

CH3;MgBr
D.CH; — CH — OH —2%
|

CH,


https://dl.doubtnut.com/l/_4fUvvQ8fBlnb
https://dl.doubtnut.com/l/_YlrQMXOw5wiB

Answer: D

o Watch Video Solution

Mg, eth .
A) P, © 8T, Grignard reagent R
>(D)—=2 5 (3, 4-dimethyl
Na,Cr,0, > (B) 3-hexanol)
85 H,80,4

When Grignard reagent reacts with (B) product (D) will obtained.

Reactant (A) of the above reaction is :

(a) /\{/
A OH

® 7 on

B
(©) /\\/\
. OH
OH
D AN
D.

Answer: A


https://dl.doubtnut.com/l/_YlrQMXOw5wiB
https://dl.doubtnut.com/l/_Eh0UkObH8ndQ

° Watch Video Solution

LiAlH,

86.(A) —— 2(B) , structure of (A) is :
(Chiral alcohol only)
o
|
ACH;—CH—-C -0 —-CH — CH;
| |
Bt Bt
0

I
B.CH3—C]H—C—O—CH2—C]H—CH3
E(‘;t
e
" dhad

O

Et

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Eh0UkObH8ndQ
https://dl.doubtnut.com/l/_AR4JkkTjkJsj

NO,

87.

Above conversion can be achieved by :
A LiAlH,
B. NaBH,y
C.NH,/Ni

D.CrOs

Answer: B

OH

NO,

o Watch Video Solution



https://dl.doubtnut.com/l/_DnpJ0ggbyuZ7

l

CH - COH
@/ * BOH —> (86%)

(Mandelic acid)

OH |
I

88

Identify product of above Fischer esterification reaction :

O — Et
A |
Ph — CH — COsH
/°\
B. (b) Ph —-CH-C=0

C.Ph — C’|H — CO,Et

OH
0
|
D.Ph—CH — C — Et
|
OH

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_u9YivFWqg1Ci

)

Il
CH,. (H,CH,COH

]

Product (C) of the above reaction is :

CHilA oy gy 0" ()

89.

(@] OH
| |
ACH, — C — CHy — CH, — C — CH,
|
CHj3
OH OH
| \
B.CH,— C — CH,— CH,— C — CH,
| |
CH3s CHs
O (0]

| |
C.CH; — C — CH, — CH, — C — CH,

o o

| |
D.CH; —C — CHy, — C — CHj

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gpR5YHeyUWrf

90. What is the product of the following reaction ?

OH

‘ cro
CH; — CH — CHy, — CH, — OH —)d : s Product
Pyridine co

OH o

| I
ACH; - CH-CH,-C —H

o o

|| |
B.CH3; —C —-CH, —C — H

o

|| I
C.CHs — oberset(O)C — CHy — C — OH

OH o

l |
D.CH; - CH — CH, — C — OH

Answer: B

o Watch Video Solution

91. The major reason that phenol is a better Bronsted acid than

cyclohexanol is that :

A. it is a better proton donor.


https://dl.doubtnut.com/l/_i2uB9DBDSUld
https://dl.doubtnut.com/l/_QFK8MUkyYCpC

B. the cyclohexyl group is an electron donating group by induction,

which destabilizes the anion formed in the reaction by resonance.

C. phenol is able to stabilize the anion formed in the reaction.

D. the phenyl group is an electron withdrawing group by induction,

which stabilizes the anion formed in the reaction.

Answer: D

o Watch Video Solution

92. Which of these reagents would accomplish the following reduction?

@) OH

| |
N=C-CH,~C~CH,~CH=CH, > N=C~CHy,~ C —CH

A. NaBH,
B. LiALH,

C.1mole H,, poisoned catalyst, low presuure

D. H;0™


https://dl.doubtnut.com/l/_QFK8MUkyYCpC
https://dl.doubtnut.com/l/_hBbGe7SAylqV

Answer: A

° Watch Video Solution

CH — CO,Et CH - CH, - OH
(A) MnO,
93.

Identify Aand B :

CH - CO,H
(a) A=NaBH,,B =
A.
CH - CHO
(b) A =NaBH,, B :@
B.
CH - CHO
‘©) A=LAIH,,B= é
CH - CO,H

() A =LiAH,, B = @
D.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_hBbGe7SAylqV
https://dl.doubtnut.com/l/_QuUwgyxnV0wU

94.Ph — CH, — CH — CH; —5 218" (4
|

OH

Product (A) in above reaction is :

A. Ph — CHy — CH — CHjs, (inversion)

|
OEt

B.Ph — CH, — CH — CHsj, (retention)
os

C.Ph — CHy — CH — CHj, (racemic)
os

D.Ph — CH = CH — CHj

Answer: B

o Watch Video Solution

(@)

| +

95.Ph —C — O — H+ CH; — O — H <= (X) + H,0, dentify X,

o

||
AX=Ph—-C-0%—- C H; (Trans esterification)


https://dl.doubtnut.com/l/_QuUwgyxnV0wU
https://dl.doubtnut.com/l/_uMZmd4KHQ912
https://dl.doubtnut.com/l/_vK2S9NbMFisZ

o

B.X = Ph — g’ -0’ - C Hj; (Esterification reaction)
o

C.X = Ph — g’ — O™ — CH; (Saponification)
0

||
D.X = Ph — C — — CHj (Hydrolysis)

Answer: B

o Watch Video Solution

¢ q
R"’OHTH_O_C__@_*NOZ—H;—) R—O—C—@"\‘OZ

96.

Fastest rate of reaction will be when R is :

A.CHs —
B.CHy — CH,
C.CHs; — CH —
|
CHs
CH;
|
D.CH; — C —

|
CHs


https://dl.doubtnut.com/l/_vK2S9NbMFisZ
https://dl.doubtnut.com/l/_scX9iZGlcZb5

Answer: A

o Watch Video Solution

97. Select the correct statement.

A. Solvolysis of (CHj3),C = CH — CH, — Cl in ethanol is over 6000
times greater than alkyl chloride (25° C)

B.CH; — CH = CH — CHy, — OH when reacts with HBr give a
mixture of 1-bromo-2- butene and 3-bromo 1-butene

C.When solution of 3-butene -2-ol in aqueous sulphuric acid is
allowed sulphuric acid is allowed to stand for one week, it was
found to contain both 3-buten -2-ol and 2-buten -1-ol

D. All of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_scX9iZGlcZb5
https://dl.doubtnut.com/l/_uGQnVPBoMiPc

OH OH
CH, - OH

98. Above
transformation can be carried out by :

AH" /A, Zn(Hg), HCI

B.HIO4, LiAlHy

C.HIOy,H' /A

D.H" /A, HIO,

Answer: B

o Watch Video Solution

99,

SOCl, O3/ Zn 1
H2C = CH — CHQ — CHz CH CH3 —_— (A) e (B) =
Pyridine (H50) CsH,oClO
OH


https://dl.doubtnut.com/l/_uGQnVPBoMiPc
https://dl.doubtnut.com/l/_CMmesvG9V7ri
https://dl.doubtnut.com/l/_KoH0QK4v1e9W

compound (C) is :

OH
A.CH; — cH - CH, — CH — CH;,
&
B. HOCH, — CH, — CH, — CH, — CH, — CH, — ClI
Cl

|
C.HO — CH, — CH, — CH, — CH — CHj,

D.HO — CHy, — CH, — CH — CH, — CH;
|
Cl

Answer: C

o Watch Video Solution

100. lodoform can be obtained on warming NaOH and iodine with :

A.CH;CH,CH(OH)CH,
O
|
B. (CH;),CHCC, H;
C.CH, — ﬁ* — OCH,
O

D. (CH;),CHCH,OH


https://dl.doubtnut.com/l/_KoH0QK4v1e9W
https://dl.doubtnut.com/l/_TnYHQLkhrs6O

Answer: A

° Watch Video Solution

101. Which of these is a reducing agent ?

A. C’I"O3 /H+
B. KMnO4
C.LiAlH,

D. O3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_TnYHQLkhrs6O
https://dl.doubtnut.com/l/_bfEFOzzdMD10

CH,,

§

102.

(P) in the reaction is :

A.

Answer: A

(). (BH,),

(ii). H,0,/0oH

— (P);

Product

° Watch Video Solution



https://dl.doubtnut.com/l/_ATKQyYBa2x7O

CH;
|
103.CH; — C — CHj
|

OH

Na20T207 . . .
(P), Product (P) in the reaction is :

cool

CH;
|
ACH, — C = CH,
CH;

l
B.CH3; — CH — CH3

CH; CH;
| |
C.CH; — |C’ —0- |0 — CH;
CH; CH;

D. No reaction

Answer: D

o Watch Video Solution

104. 1, 2, 3- butanetriol undergoes oxidative cleavage of HIO4. During

this process

A. 1 equivalent of HIO4 consumed & HCO2H & H3C — ﬁ’ — COsH

o

are formed


https://dl.doubtnut.com/l/_w792Lr7TGMf9
https://dl.doubtnut.com/l/_JINR4uHo0JXV

B.2 equivalents of HIO, consumed & HCOyH (2 eq.) & 1 eq. of

CH3;COyH are formed

C.3 equivalents of HIO4 consumed & HCO>H (2 eq.) & 1 eq. of

CH;CO5H are formed

D. 2 equivalents of HIO4 consumed & 2 eq. of HCO,H & 1 eq. of

CH;3;CH = O is formed

Answer: B

o Watch Video Solution

T
)
CH, - CO_ _C—OCHj
_ OUAHL | (A);
(i) H,0 (96%)
105. Product

(A) of the reaction is :


https://dl.doubtnut.com/l/_JINR4uHo0JXV
https://dl.doubtnut.com/l/_LXAgsaPa8FK1

OoH oH

A

B.

OH CH,OH

(©
C.

O
D

Answer: C

° Watch Video Solution

o o

I . Y
106R—-C—-O-R +R'OH<~ R—-C—-0O—R' +R'OH

Above reaction is/an example of :


https://dl.doubtnut.com/l/_LXAgsaPa8FK1
https://dl.doubtnut.com/l/_hX4j7oNG28XX

A. eaterification

B. saponification

C. trans-esterification

D. hydrolysis

Answer: C

o Watch Video Solution

107. What is the major orgainc product of the following sequence of

reactions?

(CH,),CHCH,OH —*2& Mg > 2

OH

|

A. (CH;),ChCHCH,CH,

B. (CH;),CHCH,CH,OH
c.(CH;),CHCH,CHCH,

D. (CH;),CHCH,CH,CH,OH


https://dl.doubtnut.com/l/_hX4j7oNG28XX
https://dl.doubtnut.com/l/_sR77eExEKZbZ

Answer: D

o Watch Video Solution

108. The structure of the product formed in the reaction given below is :

Ht
A

OH OH

(a) Q—@

A.

» ()
O

B.

()


https://dl.doubtnut.com/l/_sR77eExEKZbZ
https://dl.doubtnut.com/l/_so56hvzdYdOj

o (1)

)

Answer: C

° Watch Video Solution

CHO
|
2HIO, L .
109. cH — O 5" Products obtained in the above reaction are:
|
CH, —- OH

A .HCHO, HCO,H

B. HCHO, 2HCO,H

C.CO,, 2HCO,H

D.CO,, HCHO, HCO,H

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_so56hvzdYdOj
https://dl.doubtnut.com/l/_jGhhzNpEiGzv

CHO
|

110. (CH — OH); + 4HIO, Products obtained are :
|
CH, — OH
Aldo pentose

A 4HCO,H, HCHO

B.4CH,O, HCO,H

C.CO,, AHCHO

D.CO,,3HCO,H, HCHO

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_jGhhzNpEiGzv
https://dl.doubtnut.com/l/_I5edHnhrj9PW

CHO CH,OH
| |
m. (cH- OH), ifo;* Prosuct (i) (CH — OH),
| |
CH, — OH CH, - OH
Product

Ratio of moles of formic acid obtained in reaction (i) and reaction (ii) is :

A.3/4
B.4/5
C.1

D.5/4

Answer: C

o Watch Video Solution

112. Which of the following compound gives 2HCHO, CO,, HOO,H

when oxidised by periodic acid?


https://dl.doubtnut.com/l/_sINOasMWV5n5
https://dl.doubtnut.com/l/_4vgBLsEY9ovG

CH, - OH

A (CH - OH),
|
CH, - OH
CHO
|

B. (CH — OH),
|
CH, - OH
CH, - OH
|
cC=0

C. |
(CH — OH)2
|
CH, - OH
CHO
|
cC=0

D. |
CH - OH
|
CH, - OH

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4vgBLsEY9ovG

113. Hydration of 3-phenylbutan-1-ene in dil. H, SO, will give mainly :

A. 3-Phenylbutan-2-ol

B. 3-Phenylbutan-2-ol

C. 2-Phenylbutan-2-ol

D. 2-Phenylbutan -1-ol

Answer: C

o Watch Video Solution

114. Decarboxylation of sodium salicylate with soda lime form :

A. Salicylic acid

B. Phenol

C.Benzene

D. None of these


https://dl.doubtnut.com/l/_sUK7sPYkxJpa
https://dl.doubtnut.com/l/_zJdYbS5kLbS5

Answer: B

o Watch Video Solution

C{H - OH

CH -OH O

C’H - OH
He

CIHZ - OH

115.

the maximum value of (x)?

Al

B.2

C.3

D.4

xHIO,

Ny

What is


https://dl.doubtnut.com/l/_zJdYbS5kLbS5
https://dl.doubtnut.com/l/_53Znxy1PgX8F

Answer: B

° Watch Video Solution

CH,-OH

0 l , e
CH,-OH LiAIH L
@C}l - — > @A — (®) ().
: — CO,Et H

116. CH; Product C

(®)

@) Cﬁ -GH - OH

CH - CH2
0]
OH
7/
“ (\/\/EC - CHs
|
CH,
o
oY
D. CH, - CH, - OH

Answer: B


https://dl.doubtnut.com/l/_53Znxy1PgX8F
https://dl.doubtnut.com/l/_EOeJZG4IchTl

° Watch Video Solution

. CH,-O
(A) + CH, — OH —Zyndine_, 7772 Sc=0;
CH, - O
CH,—OH
117.

Reactant A of the above reaction is :

o

||
A.CH; — C — CH;

B. COCl,
(0]

ccm—g—Cl
o

I
D.CH; — C — OFEt

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_EOeJZG4IchTl
https://dl.doubtnut.com/l/_GjdxVlQKoqS8

A

¢

—_
> © > © © @ AN
|

CO,CHy CO,CH3 CHp - OH cHo
18. .

Identify correct combination :

CH, — OH
A (A) = |
CH, — SH

B.(B) = NaBH,

D.(D) = H;0°

Answer: D

o Watch Video Solution

119. In the Libermann's nitrose reaction, sequential changes in the colour

of phenol occurs as :

A.Brown orred — green — deep blue


https://dl.doubtnut.com/l/_z66FCMVrlQHI
https://dl.doubtnut.com/l/_UMf3wCbkkOKm

B.Red — deep blue — green

C.Red — green — white

D. White — red — green

Answer: B

o Watch Video Solution

120. Ethanol when reacts with PCly gives A, POCI3 and HCI. A reacts
with dry Ag,O to form B (major product) and AgCl. A and B respectively
are:

A C2H5Cl and 02H5002H5

B. C2H4 and 02H5002H5

C. CQH(; and CQH5OC2H5

D. C2H6 and 02H5N02

Answer: A

[ - 1


https://dl.doubtnut.com/l/_UMf3wCbkkOKm
https://dl.doubtnut.com/l/_9B2qB83t4HJn

Watch Video Solution

121.CH; — (CH,); — OH > (A) > (B)
Product (C) is :

A.CH; — (CH,); — CO.H

B.CH; — (CH,); — ." CO,H

C.CH; — CO,H
o

|
D.CH; ~C ~0—H

Answer: B

o Watch Video Solution

122. Choose the best synthesis of phenyl n- propyl ether.

) 1.Nametal

( —_—

\a 2. CH,GH .GH B
polar.aprogic solvent

A



https://dl.doubtnut.com/l/_9B2qB83t4HJn
https://dl.doubtnut.com/l/_vHQdI7oc10a2
https://dl.doubtnut.com/l/_hHmlGO402JRP

OH

NG L Nameml
B HC 3 Phobe

/CH3

(o)

1. Na metal
>
C 2. CH;CH,-Br

OH
2. HBr
D, e

Answer: A

° Watch Video Solution

OH

Na2cr207 /HZSO"f N

123. HO The

product obtained is :


https://dl.doubtnut.com/l/_hHmlGO402JRP
https://dl.doubtnut.com/l/_W0lvCJCLcD1Y

CO-H

C.

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_W0lvCJCLcD1Y
https://dl.doubtnut.com/l/_w36wnJ7TGQ0j

124. What is true for the equilibrium reaction ?

o @)

cat. | ‘

|
CH; —C —-0OH+ (CH; —OH <— (CH; — C — O — CH; + H,0

A. The use of equimolar quantities of CH3OH and CH3COOH will
give the greatest yield of the ester at equilibrium

B. Removal of water will increase the amount of ester at equilibrium

C. Addition of CH3COOCH;3 will cause the fomation of equal an
equal number of moles of water

D. Application of pressure increases the amount of ester at

equilibrium

Answer: B

o Watch Video Solution

125. PCC' (Pyridinium chloro chromate ) is a good reagent for which of

the following transformations?


https://dl.doubtnut.com/l/_w36wnJ7TGQ0j
https://dl.doubtnut.com/l/_jY1I6Wfezd4K

Answer: B

o Watch Video Solution

126. How many primary alcohols (including stereoisomers) are possible

with formula Cs H120?

A. Two

B. Three


https://dl.doubtnut.com/l/_jY1I6Wfezd4K
https://dl.doubtnut.com/l/_sT03TXbB4aCa

C. Four

D. Five

Answer: D

° Watch Video Solution

127. 1-Phenylethanol can be prepared by the reaction of benzaldehyde

with the product obtained in the reaction between :

A.CHsI and Mg

B. C2H5I and Mg

C. CHgB’I’ and AlClg

D.CH30H and ZnCl,

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_sT03TXbB4aCa
https://dl.doubtnut.com/l/_g2eIAycqr6a0
https://dl.doubtnut.com/l/_osLMnQ93lWe3

128. 0.092g of a compound with the molecular formula C3HgO3 on
reaction with an excess of CH3MgI gives 67.00mL of methane at STP.
The number of active hydrogen atoms present in a molecule of the
compound is :

A.one

B. two

C. three

D. four

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_osLMnQ93lWe3

129. Migratory aptitude of the following in decreasing order is :

Q ©Q

OMe Me
(a) (b) () )

Aa>c>b>d
B.a>d>b>c¢
Ca>d>c>b

Db>c>a>0b

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1ST0bBlefLJv

130. The major product formed in the reaction is :

CH,R —_Hs0~

A.

O

| |
B. }ZD\O/CHzR

+ RCH,OH
HO CHO

_CH,R

O OH™

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_RTERewrunVXY

131. Reaction of R-2- butanol with p-toluenesulphonyl chloride in pyridine

then LiBr gives :

A. R-2- butyl bromide

B. S-2- butyl tosylate

C. R-2- butyl tosylate

D. S-2- butyl bromide

Answer: D

o Watch Video Solution

132. Optically active 2- octanol rapidly loses its optical activity when
exposed to:

A. dilute acid

B. dilute base

C.light


https://dl.doubtnut.com/l/_tISEVKrqZeFT
https://dl.doubtnut.com/l/_6aFqnCc1U6zW

D. humisity

Answer: A

° Watch Video Solution

133.1f ( £ ) 2-methyl butanoic acid were esterified by reaction with ( £ )

2-buranol, how many optically compounds would be present in the final

equilibrium reaction mixture ?

A2
B.3
C.4

D.6

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6aFqnCc1U6zW
https://dl.doubtnut.com/l/_2zr1cwkHAMBS
https://dl.doubtnut.com/l/_5A8Q1rLKu21N

OH ?

I
PBry Mg v CHy—C—C
> W > X —> g,
ether (2) H,0'

{Q

Na,Cr,0,
134. v

Product Z of above reaction is :

O-C-CH.

Napal

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5A8Q1rLKu21N

H OH

N
C
LiAIH, :
@ Qe
135.

the product :

Identify

A. No reaction

B.

H H

\/

O

o

(0]

||
D.Ph — C — Ph

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_pcvdbwCXaiO0

H,09
136. (Et0),CHCHO + CH3Mgl — (A)
Product obtained in the above reaction is :

o o
.

ACH3;—-C—-C—-H
OH

|
B.CH; — CH - CHO

o

I
C.CH; — C — CH, — OH

D.CH; — CH — CH, — OH
|
OH

Answer: B

o Watch Video Solution

KMnO. NalO.
137. Reaction - (1) : CH; — CH = CH — CH, T (4) —" (B)2
mole
KMnO,/ NalO,

Reaction-(2): CH3; — CH = CH — CH; ——  (C)2 mole

Product (B) and (C) respectively are :


https://dl.doubtnut.com/l/_nAA5b5gXcWDX
https://dl.doubtnut.com/l/_nzHjlTBWpxwf

A.CH;CHO, CH;COoH

B. CH;CO,H, CH;CHO

C.CH3CHO in both reaction

D. CH3COsH in both reaction

Answer: A

o Watch Video Solution

OH

LiAlH,

Y

—~

™~
138.

(B) is :

QI

TsCl
O ¥
Pyridine, 25°C

7 L
Pyridine, 25°C

T

)

,Product


https://dl.doubtnut.com/l/_nzHjlTBWpxwf
https://dl.doubtnut.com/l/_n3xoaX7NAfj8

Answer: C

° Watch Video Solution

139. this

conversion can be achieved by

A. O3, Zn,then LiAlH,


https://dl.doubtnut.com/l/_n3xoaX7NAfj8
https://dl.doubtnut.com/l/_ZSuf1RD0I4Sa

B. 03 /H202, then LZAlH4
C. Cold dil. KMnQOy4, HIOy4, then LiAlH,

D. All of these

Answer: D

o Watch Video Solution

140. Which of the following alcohol on treatment with HC! give 3-chloro

-3- methyl cyclohexene as a product ?

CH,

OH


https://dl.doubtnut.com/l/_ZSuf1RD0I4Sa
https://dl.doubtnut.com/l/_PAllV23OVIny

CH,

B. OH
CH,
OH
C.
D. All of these
Answer: D

o Watch Video Solution

(a)RCO,H

(b) CH;MgBr () H~ 1.0

141.

of the reaction is :

(A);

y -

Product


https://dl.doubtnut.com/l/_PAllV23OVIny
https://dl.doubtnut.com/l/_ISK5yQULYnkc

@OH
CHj

B.
O\OH
’I///
C. OH
CH,
D.
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ISK5yQULYnkc

142. Esterification (shown below) is a reaction converting a carboxylic acid
to its ester. It involves only the carbonyl carbon. Esterification of (-) -lactic
acid with methanol yield (+) -methyl lactate. Assuming that there are no

side reactions, what is true about this reactin?

OH OH
OH CH.,OH OCHy
__.___._‘_‘_—-)
HCl
-) (+)

A. AnSy: process has occurred, inverting the absolute configuration

of the chiral center

B. An Sy reaction at the chiral center has the optical rotation

C. A diastereomer has beem produced, diastereomers have different

physical properties including optical rotation

D. Optical rotation is not directly related to ansolute sonfiguration, so

the change in sign of rotation is merely a coincidence

Answer: D

[ o |


https://dl.doubtnut.com/l/_MH3eATaaGva3

l & Watch Video Solution J

143. Which of the following sets of reagents, used in the order shown,

would successfully accomplish the conversion shown?

0 CH,
Il

|
O——CCI—I3—> CHCH,CH,CH,

A. CH3CH20H2MQBT’, H30+, PCC, CH,Cls

B. CH30HQCH2MQBT, H30+, H>50y, heat PCC, CH>Cls
+ s

C. (CGH5)3P — CHCH»:CHs, BoHg, CH3CO2H

+ .
D. (06H5)3P — CHCHQCH?,, H>0O

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MH3eATaaGva3
https://dl.doubtnut.com/l/_8jKRHlqg1rhi

O
CO,Et
(1) H 0~
——— Product ;
2)A
144. Product

of the reaction is :


https://dl.doubtnut.com/l/_rE6dp7qxaBif

(d)

Answer: B

° Watch Video Solution

145. Which of the following compound on hydrolysis followed by heating

gives a product, which gives positive iodoform test?

o
]
A.CH; — CH — C — CH, — CH;
|
CO,Et
CO4Et

C-CH,

I
0

CH; — CH — COyEt
C. |
CO,Et


https://dl.doubtnut.com/l/_rE6dp7qxaBif
https://dl.doubtnut.com/l/_1vhWoSJZrOM6

O (f

|
f C -0 =t

D.

Answer: B

o Watch Video Solution

146. Treatement of a 2° OH with CrO3 / H,SO, yields an /a :

A. aldehyde
B. craboxylic acid
C. ester

D. ketone

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_1vhWoSJZrOM6
https://dl.doubtnut.com/l/_5pCfQGlNkqz3

147. Esterification of the acid P with the alcohols Q will give :

(S)-p

A. only one enantiomer

B. a mixture of diastereomers

C. a mixture of enantiomers

D. only one diastereomer

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HMLU9zUfQDB1

CO,Et
B H:0/2 , product

EtO,C
O
148.

Identify major product of the reactionwhen the given compound is

hydrolysed and heated strongly :

CO,H

HO,C

OH


https://dl.doubtnut.com/l/_ZIxrJBkiPHJF

OH

OH

C.
CO,bi
(d)
CO,H
D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZIxrJBkiPHJF

149. “ find out
the reactivity order with Li AlH,:

AA>B>C>D

BB>C>D>A

CD>C>B>A

DDB>D>C>A

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YWtTTTLXVKRI

150. Find out the reaction in which obtained product give possitive

isocyanide test:

O

@>/U\NH2 LiAlH,
A

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_kvg0fNrm9j8P

151.
In the above given compound how many functional group reduced by
LAH (lithium aluminium hydride) and SBH (sodium borohydride)
respectively?

A 4,4

B.4,3

c.3,4

D. 4,2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_opO1y1bU4LFB

152. An unknown compound (A) (molarmass =180) on acylation gives a
product (molar mass = 390) than find the number of hydroxyl group

present in compound (A).

A5

B.6

D.1

Answer: A

o Watch Video Solution

153. Which of the following compound is differentiated by Na HCO3 as

well as by NaOH?


https://dl.doubtnut.com/l/_opO1y1bU4LFB
https://dl.doubtnut.com/l/_DtGqbIlcSmFP
https://dl.doubtnut.com/l/_GGHl1EETiZSt

CO,H OH

ot CH,—OH
B. ©
CO,H CH,—OH
C.
OH OCH,
D. t \\/
Answer: C

o Watch Video Solution

154. Arrange the following compounds in order of their reactivity toward

LiAlHy.


https://dl.doubtnut.com/l/_GGHl1EETiZSt
https://dl.doubtnut.com/l/_kZ6mWMZBhLBn

_CH,

1 i iii
A < ii < iii
B.i < iii < ii
C.1z <1 <111

D.1t < 111 < ¢

Answer: D

o Watch Video Solution

155. Choose the statement that is true about A, B and C in the following

separation scheme.


https://dl.doubtnut.com/l/_kZ6mWMZBhLBn
https://dl.doubtnut.com/l/_TlePxUrmoiVA

X
f

X
|
 a Ether  pyaporate
. —>
layer A
Naphthalene
Diethyl HClL — Ether v 5

X Ether layer
’ - Aqueous _ Make basic with
F N\H layer 10% NaOH
H,0
tetrahydro- Aqueous _Evaporate -
isoquinoline layer

A. A = tetrahydroisoquinoline, B naphthalene and C = inorganic

suchas Na™ and Cl™

ions

B. A = napthalene, B = tetrahydroisoquinoline and C = inorganic ions

such as Na* and Cl~

C.A = inorganic ions such as Na™* and CI~, B = naphthalene and C =

tetrahydroisoquinoline

D. A= inorganic ions such as NA™ and CI~, B = naphthalene and C =

tetrahydroisoquinoline

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TlePxUrmoiVA

CHZOH _ s value of «

O—CH
: value of x

A2
B.3
C.4

D.5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Wws5t6xTpEwS

CO,H o
_NaBHs (A)—— (B)
Cyclic

CH,—CHO
157.

Compound (B) is :

O
: : EO
A.

o OH
O

D. (a) and (c) both

B.
C.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_sEC2axKQ6TWP

158. 1- Phenoxypropane is treated with excess of conc. HI at 0° C and the

mixture of products is treated with thionyl chloride. The products formed

are

A. n- propanol + Chlorobenzene

B. Phenol + n-propyl iodide

C. n- propyl chloride + Chlorobenzene

D. n- propyl chloride + Phenol

Answer: B

o Watch Video Solution

159. Amongst the following compounds, the compound having the lowest

boiling point is

/\/\()f [

A.


https://dl.doubtnut.com/l/_TxfGZxNtmBoy
https://dl.doubtnut.com/l/_CuqTDZmZq2F2

Answer: C

o Watch Video Solution

160. Which statement /s are true about product P & Q.

5001,
(A\CH; -CH=CH-CH; —-OH ——— P

ether
(6 member T.S.)

(B)0H3—C*|H—CH:0H2%Q
ether

OH (6 member T.S.)

A.P & Q are position isomers

B. P shown geometrical isomerism but Q not

Cl


https://dl.doubtnut.com/l/_CuqTDZmZq2F2
https://dl.doubtnut.com/l/_1WEdXKDcETYf

P=CH; - CH = CH — CH, — Cl QEC’H:;—C‘H—CH:
Cl

Answer: A::C

o Watch Video Solution

(i) BBr,
(i H,0

-» Product

161.

Which of the following is/are possible end product of the above reaction?


https://dl.doubtnut.com/l/_1WEdXKDcETYf
https://dl.doubtnut.com/l/_z9kw8kAWCG4z

OH

Br

B

R/\Bt
C.
D. both (a) and (c)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_z9kw8kAWCG4z

162. Consider the pairs of ethers, numbered | through V, shown below. To
the right of each pair is a description of reaction conditions to be applied
to each. One compound of the pair will react more rapidily than the other.
Which ether of the two be more rapidily cleaved?

write your answer in box.

o Watch Video Solution



https://dl.doubtnut.com/l/_Vh6HCX63t6FX

- Cli,  CH, b G

(@) CH il CH -CH. CH.,-OH (D) Cly
' - - Ol
al
. “H. - G, -G Ol
(¢) CH. —CH —CH-CH -CHl (d) CH, 2
GH [GIR
I,
CH. 3
- : | CH-on
I , . CH., - Cl1 CH - CH,
() "+ ~CH-CH, —CH, -OH : ® \
Ol
- CH,
o \

| _C —Clt., - Ol
¢, CH,-CH-CH, -CHj (h) CH, C\ Cit, - O

CH,4

]

. cmpounds (a) to (h) are isomers of C5H;,0.

163.
Based on the above isomer answer the following (a to h).

Which isomer is most reactive towards dehydration by conc. H,50,?

o Watch Video Solution



https://dl.doubtnut.com/l/_RvJ1pr7ZA2vR

(a) CH; - CH, ~CH, -CH, -CH, -OH  (b) CH,-CH, - CH, -CIL -CH.,

O}
ci,
(c) CH, -CH, -CH~CH, - CH, © (d) CH, —Cl1, -C - O
OH : (l“,H;‘
CH; k CH,
(&) CH. —CH -CH, -CH, -OH t(ﬂ CHRJCI—%C]—[ ~CH,
CH; y CH,
2) HO - CHz~éH—CHz —cHy . (h) CH} -C ~CH,, - Ol

bove compounds (@) to (h) are isomers of C sHu@

164.

Based on the above isomer answer the following (A to F).

Which isomer will undergo rearrangement when treated with

H,50,7?

conc.

o Watch Video Solution



https://dl.doubtnut.com/l/_YR8qVOa1quDD

(@) CH: ~CH, - CH, ~CH, -CH, -OH  (b) CH, - CH, - CH, (‘:11 CH.,

O}
Cli,
(c) CH, —~CH, ~CH-CH. - CH, (d) CH, —CH, ~C - Of1
CH CH,,
CH; > CH,
(e) CH.-CH-CH, —CH, - OH A (f) CH;—CH-CH -CH,,
e })H
QH3 : . CHy
(g E:TO—CHZ—ICH—CHZ—CH3 R () CHS—(l]—CH,_ -0H
i,

~nove compounds (@) to (h) are isomers of CsH;,0.

165.

Based on the above isomer answer the following (A to F).

Which isomers on dehydration with conc. H2504 give alkene is capable

to show geometrical isomerism ?

o Watch Video Solution



https://dl.doubtnut.com/l/_BJUSRlY7Qal1

(a) CH

(c) CH

(e) ~H

I
N>

166.

Based on the above isomer answer the following (A to F).

Ci_ - CH. - CH,-CH, -OH

~CH_ ~CH-CH. -CH
GH

CH.

~CH -CH, ~CH, —OH

-0

H,

‘¢, - CH,-CH-CH, —CHs

Which isomer is least acidic ?

iy, it

Ol

() Cli, - G

ch,

(d) CH, ~Cit, GOl
CH.,

CH,

|
(f cH,-Cl <\:n NGt
oMl

cH,
) cxig-(i-rcu,v on
CH,

~,mpounds (a) to (h) are isomers of C5H;,0.

i

° Watch Video Solution



https://dl.doubtnut.com/l/_K2KSR9N49EU8

T . N C CrrCH,
(a) CH- '*CH;*CH:~CH‘Z*CH2"OH (b) CHjy - CH, - CH, Il 4
Ol

Cll,

|
1. - ~C - 0Hl
(c) CH. —CH., ~CH —CH. - CH. (d) CHy = G, =G €

CH » CH,

S CH,

CH; 3

» S \
: o —CH-CH ~CH,
(e) CH.-CH-CH, -CH, —OH (f) CH;-C \ ;
: OH
CHB

CH,

1

o
(o) 10 - CHZ—‘CH—CHZ—CH3 ) CHS—c\ycu,,»on

CHjy
167. e compounds (a) to (h) are isomers of C5H12Q3

Based on the above isomer answer the following (A to F).

Which isomers on dehydration give most stable alkene?

o Watch Video Solution



https://dl.doubtnut.com/l/_JdoekHOwM61L

. N . : Cil,
(a) CH. - CH. - CH.-CH,-CH,-OH (b CHy- CH, -~ CH, G :

Of 1
Cily
(¢) CH, -CH,-CH-CH. -CH, (d) CH, ~Cll, (\ ol
OH CH,
CH CH,
“H, \
) CHL ¢ CH.,-Cl-CH - CH,
(e) CH.-CH-CH, -CH, -OH (D CHj \
Ot
CH ~ CHy
1 3 \
l h) CH, -C ~CH, - Ol
(g) 10 _CH,-CH-CH, —CHj (h) E )
CH,

168.
Based on the above isomer answer the following (A to F).
Which isomer on dehydration with conc, H3PO4 undergo maximum

rearrangement?

° Watch Video Solution

R — CH3
(alkane lowest
oxidation no.)

( .
169. 1O Osadation [ = Reduction

Conversion (CH3 — CH3 — CH3 — CH; — OH) alkane — alcohol is

achieved by :


https://dl.doubtnut.com/l/_c3E85hsI2tTu
https://dl.doubtnut.com/l/_ORbs0fSVg5Mw

A.Bry /hv,alc. KOH
B. Bry / hv,aq. KOH
C. BT2 /CCl4, L’lAlH4

D. BT’Q /CCl4, NGBH4

Answer: B

o Watch Video Solution

R—cH, |2 — : o
'wkane;omit T [/: CH, —on) '@ ! I
oxidation no.) —__alcohol T - F 0 7

[O)] Oxidation

, . [H] = Reductien
170- Consider the above SCquence aned aneian g

A e T

Coversion R — CHy, — OH — R — CHO can be done by:

A. PCC /CH,Cl,
B. C'u, 300°C
C. C’T‘Og

D. All of these


https://dl.doubtnut.com/l/_ORbs0fSVg5Mw
https://dl.doubtnut.com/l/_lX85tGpFwYHA

Answer: D

° Watch Video Solution

CH. ad )
3 | — i, (0] -
o |[R—cH,—oH CRCHO| ==
alcoho] [, aldehvde !
1O Oxidation [H] = Reduction
171. Censider the above scquence and answer A to F.

Conversion R — CHO — R — CO2H can be done by::

A. KMnOy

B. HoCrOy

C. KsCre0O7

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_lX85tGpFwYHA
https://dl.doubtnut.com/l/_At0YpEA00JVQ

s
RCOZH
(acid ud\eﬁ
oxidation no.)

R o e e e
LEPR S |/ ) ~— (0] o1

il Jowy | 4 ; i, - on| =—=["rai ;—#

oxicdation e, ) | ! S I sldehy o

O] O

adation 1] = Reduction
172. Consider the above sequence and answer Ato F.

Conversion R — CO2H — R — CHO can be done by::

A LiAlH,

B. NaBHy

C.DIBAL - H

D. All of these

Answer: C

° Watch Video Solution

R — CF1.,

(alkane Jowe
oxidation no.)

a i
Hedhiyde

[O)] Oxidation [H] = l;('(l""i|fbll

173. '

Conversion R — CHO — R — CHy — OH can be done by:


https://dl.doubtnut.com/l/_gbjsG5Gkztv5
https://dl.doubtnut.com/l/_IN4BgG6iks6B

A LiAlH,
B. NaBH,
C.H,/Ni

D. All of these

Answer: D

o Watch Video Solution

174.Reduction of R — CH;OH — RCHj can be carried out by:

A LiAlH,

B. NaBH4 - Al0l3

C.H, — Ni

D. RedP + HI

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_IN4BgG6iks6B
https://dl.doubtnut.com/l/_ts5mDuhAybTR

175. Which of the following is true for 3-methylbutanol ?

° Watch Video Solution

176. This problem is an introduction to the planning of multistep
syntheses.

For use, you have six reactant compound (A through F), and eight
reagents (1 through 8), shown below.

Following these lists, five multistep syntheses are outlined. For each of
these, certain reactants or reagents must be identified by writing an
appropriate letter or number in designated answer boxes. Write a single

letter or number, indicating your choice of the best reactant, in each


https://dl.doubtnut.com/l/_ts5mDuhAybTR
https://dl.doubtnut.com/l/_6erEGkQhoUne
https://dl.doubtnut.com/l/_VEmAtkIQExbe

answer box.

“\A’ o) N o o
/ >:O /\\/OH LA )\O/\\ /\O)\
(/)

(B) © (D) () ©

(1) Jones' reagent [NayCr2O7 in HsO*], (2) PCC[CrOs in pyridine
+HCI|

(3) Sodium hydride NaH, (4) Sodium borohydride NaBH4

(5) Thionyl chloride SOCI», (6) Phosphorus tribromide PBr3

(7) Aluminium trichloride AICl3, (8) Magnesium turnings in ether

‘ CHL o Reagent ! fo)
A teactant | Y ) . 8 /\1/\¢
L0 C GO ’ \ P H

Reactant 3 7
h wagent ] M Reagent (] (7 0N ™
2. 2 Reagent N =y
LC | CaHuOL oy Renctant B | _
Reagent|
heat

(1) Reagent| ]

Ly \ O
(2) Reag Rzagcm[ 1 D Reactant| }
3. O‘OH 3) CO == CH 1092 humn\, with ) - i S

(4) H, i()( +) catalytic acid 3

(1) NaOH solution

Reactant Reagent (@) Rex \gentU s QCOCH:
- ——————g—-‘ CaHeO 3 @ Reactant.) N

1
»

(1) Reagent[]

m t t @) Rem.mt[ ,J Q ot
[ﬁ“ (x)Renzen C3HBr o

o Watch Video Solution



https://dl.doubtnut.com/l/_VEmAtkIQExbe

177. Which of the following is true for 3-methyl-2-butanone ?

3H, gives a secon

3

ner of 4-penten-1-ol

o Watch Video Solution

178. Which of these methods would serve to prepare 1-phenyl-2- propanol

o Watch Video Solution



https://dl.doubtnut.com/l/_aJkPbnrQmdUn
https://dl.doubtnut.com/l/_W8OplHgsKIvz

179. Match the Column (1) and (1I).

o Watch Video Solution



https://dl.doubtnut.com/l/_LolRCuntPsFL

180. Match the Column (1) and (l1).

o Watch Video Solution

181. Complete the following reaction

| o WMl L\ C ikl n


https://dl.doubtnut.com/l/_Pyx3EfkTJe6G
https://dl.doubtnut.com/l/_Y1VdN3zd7Q1b
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182. Di-tert-glycols rearrange in the presence of acid to give a-trtiary

ketones. The trivial name of the simplest glycol of this type is pinacol, and

this type of reaction therefore is named pinacol rearrangement (in this

specific case, the reaction is called a pinacol-pinacolone rearrangement).

The rearrangement involves 4 steps. one of the hydroxyl group is

protonated in the first step. A molecule of water is eliminated in the

second step and a tertiary carbocation is formed. the carbocation

rearranges in the third step into a more stable carboxonium ion via a [1,

2] rearrangement. In the last step, the carboxonium ion is deprotonated

and the product ketone is obtained.

Me
' H.SO,
HO OH—q— IO

Me Me

Pinacel '

Me Me

v H,0
+ } “A‘ —:1)

Me Me

Kle Me @ Me

N ; O-H
1O ( o ——ﬁ—al'z"sm L

v-“ (I
Me Me " Me Mé
'Me
O
Me

Me
A Me

Pinacolone

What is R.DS. of pinacol-pinacolone rearrangement ?

A. | step

B. Il step

e

(V) ,j


https://dl.doubtnut.com/l/_Y1VdN3zd7Q1b
https://dl.doubtnut.com/l/_IzglsY8zmPPS

C. Il step

D. IV step

Answer: B

o Watch Video Solution

Level 1(Q.1To Q.30)

A. Sy
B. Sy

C. SN — NGP
D.SN — Ar

Answer: C


https://dl.doubtnut.com/l/_IzglsY8zmPPS
https://dl.doubtnut.com/l/_juDPSkoKxLhD

° View Text Solution

1. Ditert-glycols rearrange in the presence of acid to give o-trtiary

ketones. The trivial name of the simplest glycol of this type is pinacol, and
this type of reaction therefore is named pinacol rearrangement (in this
specific case, the reaction is called a pinacol-pinacolone rearrangement).
The rearrangement involves 4 steps. one of the hydroxyl group is
protonated in the first step. A molecule of water is eliminated in the
second step and a tertiary carbocation is formed. the carbocation
rearranges in the third step into a more stable carboxonium ion via a [1,
2] rearrangement. In the last step, the carboxonium ion is deprotonated

and the product ketone is obtained.

" Me Me Me Me Me\Me ' @ Me
., o || ‘ DY '
; H.S0, ® - H,0 C L2shur o\ i
HOf OH——> HO ] ot —m > He e —m > )
& i M LI
Me Me Me Me Me . *° ¢
» Me ¥

Pinacel (6} (;\O
H'—Mé»
; ¢ -H
Me i !

Me
Pinacolone


https://dl.doubtnut.com/l/_juDPSkoKxLhD
https://dl.doubtnut.com/l/_TnJ95Gbigs2P

Et  bPh CH, Ph

H,S0. |
A td

HO OH + HO | OH

||

Et Ph CH;Ph

How many products obtained in above reaction ?

Al
B.2
C.3

D.4

Answer: B

o View Text Solution

2. Di-tert-glycols rearrange in the presence of acid to give a-trtiary
ketones. The trivial name of the simplest glycol of this type is pinacol, and
this type of reaction therefore is named pinacol rearrangement (in this
specific case, the reaction is called a pinacol-pinacolone rearrangement).

The rearrangement involves 4 steps. one of the hydroxyl group is


https://dl.doubtnut.com/l/_TnJ95Gbigs2P
https://dl.doubtnut.com/l/_7LdjDMMOOy7I

protonated in the first step. A molecule of water is eliminated in the
second step and a tertiary carbocation is formed. the carbocation
rearranges in the third step into a more stable carboxonium ion via a [1,
2] rearrangement. In the last step, the carboxonium ion is deprotonated

and the product ketone is obtained.

Me\ Me Ve fi\Me @ M
I | Y i O-H

I H.S0, ‘ | {0l 1,2-shift
HO:- ]’ OH— 53 HO —+ } SO T i e Ty T
o - ‘
I ! A Me 4
Me \e Me Ve Me iy M‘
. \ Me ¥
Pinacel \ 0 k
v)
} Me Me

Pinacolone

O]

CH,-Cl DNy p
A

Product 'P'is :

()



https://dl.doubtnut.com/l/_7LdjDMMOOy7I

O

Cl
B.
0
C.
0
D.
Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_7LdjDMMOOy7I

3. Di-tert-glycols rearrange in the presence of acid to give a-trtiary
ketones. The trivial name of the simplest glycol of this type is pinacol, and
this type of reaction therefore is named pinacol rearrangement (in this
specific case, the reaction is called a pinacol-pinacolone rearrangement).
The rearrangement involves 4 steps. one of the hydroxyl group is
protonated in the first step. A molecule of water is eliminated in the
second step and a tertiary carbocation is formed. the carbocation
rearranges in the third step into a more stable carboxonium ion via a [1,
2] rearrangement. In the last step, the carboxonium ion is deprotonated

and the product ketone is obtained.

Me| Me Ve ﬂqy[e 8, M
] 1 -
1,50, ‘ | N || 12shift _
HO OH—ﬁ)—) HO - i ‘ ‘ \')‘1 —> {0} I wﬁ(ls——)
— |
\ie M AR Me Mé

A o Me
Me Me fe M " -
Pinacel | 0 Me ‘
av) .
>———‘—Me ;

“inacolone


https://dl.doubtnut.com/l/_X4BItVa5EJt5

Product (A) is :

o CH;
| |
A.CH; —C = C - CH
CH3

CHjy CH,

5 OH OH

o=

C.

D. None of these

Answer: A

HCl

—> (A)

o View Text Solution



https://dl.doubtnut.com/l/_X4BItVa5EJt5

Subjective Problems

CH=0
(A) 4 moles of PCC |

CH=0
1. 0

Maximum number of moles of Acy,O consumed by reactant (A) is :

° View Text Solution



https://dl.doubtnut.com/l/_Iau7j4tYpDY3

